

ABC Bid Data

STATEWIDE CRACK SEAL TIER 2 N

43526

X-A005(129)

PROJECT: STATEWIDE CRACK SEAL TIER 2 N

STATE PROJECT NUMBER: 43526

FED. PROJECT NUMBER: X-A005(129)

DATE BIDS OPEN: March 03, 2022, 2:00

SCOPE OF WORK: Crack sealing various Tier 2 roads in the northern half of the Sate.

COMPLETION DATE: August 19, 2022

LOCATION: Carroll, District 3, Grafton, District 1, Coos

Awarded To: CONNECTICUT

Award Date:

SEALCOATING LLC

51 EAST AURORA STREET WATERBURY, CT 06708

Amount: \$304,435.75 Certified by: PETER.E.STAMNAS

Director of Project Development

Summary of Bidders

Contractor	Bid Amount	Rank
CONNECTICUT SEALCOATING LLC	\$304,435.75	А
51 EAST AURORA STREET, WATERBURY CT 06708		
ANNSEAL, INC.	\$317,906.16	В
130 MAIN STREET, STE 3, JOHNSON CITY NY 13790		
COASTAL ROAD REPAIR LLC	\$409,467.98	С
590 BRIDGTON ROAD, WESTBROOK ME 04092		



ABC Bid Data

STATEWIDE CRACK SEAL TIER 2 N

43526

X-A005(129)

					F	°S&E	51 EAST AL	SEALCOATING LLC IRORA STREET IRY, CT 06708	130 MAIN S	EAL, INC. ITREET, STE 3 CITY, NY 13790
Ite	m No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total

Items

413.1	HOT-POURED CRACK SEALANT	LB	81,809.00	\$2.00	\$163,618.00	\$1.75	\$143,165.75	\$2.24	\$183,252.16
618.61	UNIFORMED OFFICERS WITH VEHICLE	\$	19,320.00	\$1.00	\$19,320.00	\$1.00	\$19,320.00	\$1.00	\$19,320.00
618.7	FLAGGERS	HR	798.00	\$31.50	\$25,137.00	\$25.00	\$19,950.00	\$33.00	\$26,334.00
619.1	MAINTENANCE OF TRAFFIC	U	1.00	\$90,000.00	\$90,000.00	\$80,000.00	\$80,000.00	\$71,350.00	\$71,350.00
619.25	PORTABLE CHANGEABLE MESSAGE SIGN	U	4.00	\$2,376.00	\$9,504.00	\$2,000.00	\$8,000.00	\$800.00	\$3,200.00
619.279	AUTOMATED TRAILER-MOUNTED SPEED LIMIT SIGN	U	2.00	\$2,750.00	\$5,500.00	\$1,000.00	\$2,000.00	\$550.00	\$1,100.00
619.63	TRUCK-MOUNTED IMPACT ATTENUATOR, TEST LEVEL 3	U	2.00	\$2,000.00	\$4,000.00	\$5,000.00	\$10,000.00	\$1,250.00	\$2,500.00
692.	MOBILIZATION	U	1.00	\$30,000.00	\$30,000.00	\$20,000.00	\$20,000.00	\$8,850.00	\$8,850.00
1010.15	FUEL ADJUSTMENT	\$	2,000.00	\$1.00	\$2,000.00	\$1.00	\$2,000.00	\$1.00	\$2,000.00

 Totals:
 \$349,079.00
 \$304,435.75
 \$317,906.16

 Alt. Totals:
 Totals:
 \$349,079.00
 \$304,435.75
 \$317,906.16



ABC Bid Data

STATEWIDE CRACK SEAL TIER 2 N 43526

X-A005(129)

				Р	°S&E	590 BRID	NAD REPAIR LLC GTON ROAD OK, ME 04092		
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total

Items

413.1	HOT-POURED CRACK SEALANT	LB	81,809.00	\$2.00	\$163,618.00	\$2.22	\$181,615.98	
618.61	UNIFORMED OFFICERS WITH VEHICLE	\$	19,320.00	\$1.00	\$19,320.00	\$1.00	\$19,320.00	
618.7	FLAGGERS	HR	798.00	\$31.50	\$25,137.00	\$44.00	\$35,112.00	
619.1	MAINTENANCE OF TRAFFIC	U	1.00	\$90,000.00	\$90,000.00	\$136,000.00	\$136,000.00	
619.25	PORTABLE CHANGEABLE MESSAGE SIGN	U	4.00	\$2,376.00	\$9,504.00	\$700.00	\$2,800.00	
619.279	AUTOMATED TRAILER-MOUNTED SPEED LIMIT SIGN	U	2.00	\$2,750.00	\$5,500.00	\$3,000.00	\$6,000.00	
619.63	TRUCK-MOUNTED IMPACT ATTENUATOR, TEST LEVEL 3	U	2.00	\$2,000.00	\$4,000.00	\$3,000.00	\$6,000.00	
692.	MOBILIZATION	U	1.00	\$30,000.00	\$30,000.00	\$20,620.00	\$20,620.00	
1010.15	FUEL ADJUSTMENT	\$	2,000.00	\$1.00	\$2,000.00	\$1.00	\$2,000.00	

Totals: \$349,079.00 \$409,467.98

Alt. Totals: \$349,079.00 \$409,467.98



PS&E Comparison

STATEWIDE CRACK SEAL TIER 2 N 43526 X-A005(129)

				A-Bide	der	PS8	&E	
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	A-PS&E Difference
Items								
413.1	HOT-POURED CRACK SEALANT	LB	81,809.00	\$1.75	\$143,165.75	\$2.00	\$163,618.00	(\$20,452.25)
618.61	UNIFORMED OFFICERS WITH VEHICLE	\$	19,320.00	\$1.00	\$19,320.00	\$1.00	\$19,320.00	\$0.00
618.7	FLAGGERS	HR	798.00	\$25.00	\$19,950.00	\$31.50	\$25,137.00	(\$5,187.00)
619.1	MAINTENANCE OF TRAFFIC	U	1.00	\$80,000.00	\$80,000.00	\$90,000.00	\$90,000.00	(\$10,000.00)
619.25	PORTABLE CHANGEABLE MESSAGE SIGN	U	4.00	\$2,000.00	\$8,000.00	\$2,376.00	\$9,504.00	(\$1,504.00)
619.279	AUTOMATED TRAILER-MOUNTED SPEED LIMIT SIGN	U	2.00	\$1,000.00	\$2,000.00	\$2,750.00	\$5,500.00	(\$3,500.00)
619.63	TRUCK-MOUNTED IMPACT ATTENUATOR, TEST LEVEL 3	U	2.00	\$5,000.00	\$10,000.00	\$2,000.00	\$4,000.00	\$6,000.00
692.	MOBILIZATION	U	1.00	\$20,000.00	\$20,000.00	\$30,000.00	\$30,000.00	(\$10,000.00)
1010.15	FUEL ADJUSTMENT	\$	2,000.00	\$1.00	\$2,000.00	\$1.00	\$2,000.00	\$0.00
								·
	Tota	l:			\$304,435.75		\$349,079.00	(\$44,643.25)

Page 4 of 4 Friday, March 4, 2022